iB{EREE L SERTRE

00o

8: 00~
10~
3830~

FIEEH =5

HEe I AETEH-EEEREANRS . FTESESHHOE

2% L Foo>Hhn)

BA#&=C

(I~ v 72 &HEBR]

HERSE F - TR -

G N=1=),

CEEPSBEEAEBIZIEE: BFFE=1MWE ZFE=EFE

<R RIS FT

2 TF = E (AT E 5B T E A48

FSYOEEFE: 100mM XA EZ—FHHE sS{FTa D EFEE D & (EBEFiE 51D

Za—ILFEERFR - FHE v+

FBEESE TEREEXRIDSSSEHTITVEBIESLALN_O
NE == = F=F= H RF— #FH — 55 B 352 BA 45 B A ¥ sasese T esRn| Ak
1 e im 58 1500m FiEFE | BKH — 275 +6 8:50 1—3%H 8:35 50
2 1 £ 58 —F 1500m FiE| 2B —ass +4a 9:10 1 —~—2%HA 8:55 44
3 |FEimzF POFE 1 0OO0OmMmMmH 3 /A 9:35 1~ 3% 9:20 23
4 | *£5m 58 F PAFE11O0OmMmH 3 KA 9:55 1—3%H 9:40 17
N . 1 ~—axA 10:00
5 1 EFE Z 1T00m T-3E | 8% 255 +8 10:15 s —=%a o710 59
N 1 —3%HA 10:25
6 =2 6% — 3 + 6 : a7
H 2 F TOO0Mm et #H b= 10:40 o —owa 1035
1 ~AaxA 10:45
528 #A — :
7 24 58 F T1T00m F=3iEE | 7/A 3735 +3 11:00 5 —> %A 1055 49
N . 1~ 3% 11:10
8 I EEZ 1T00m 32 | A 3I5E +6 11:25 T —o%h 130 a1
N 1~ 3% 11:30
9 3 S% — =2 + 6 : 38
= 58 7 1T0O0m 5328 HE S5 11:45 prpy=r] a0
1~ 3% 11:55
E= 38y #H — -
10 | 58 588+ 400m ST 5] 155 +=2 12:10 2 —oexa 1205 a1
11 1 5 Z= 1T00m SFH —2755 +=2 12:50 1 —3%A 12:35 24
12 | 22— 100m SHEA — 255 +— =2 13:00 1~ 3%A 12:45 24
13 | 258 —F 100m SHA — 255 +— 2 13:10 1 —3%HA 12:55 24
14 | 3 Z—F 100m 3HE— 255 +2 13:20 1~ 3% 13:05 24
15 | SEFESB F 100m 2% — 255 +4a 13:30 1 —~—22%A 13:15 16
- . 1~ 3% 13:30
16 | Fim=zcF 100mH S%A 255 +6 13:45 T —oS#a 1320 38
17 | FHaidm 58— 1 10OmMmH Ti3EE | 4afH —355 +4a 14:15 1 —AaxA 14:00 31
18 | 58 58 7 400m RS 1 %A 14:40 1 %8 14:25 8
19 | 1 EFEZZ 7 100m R A% 1 %8 14:50 1 %8 14:35 8
20 | 2 Z—F 100m R A% 1 %0 14:55 1 %8 14:40 8
21 | 258 F 1T00m SRAZS 1 %0 15:00 1 %0 14:45 8
22 | 3 ZF 100m SR A% 1 %8 15:05 1 %0 14:50 8
23 | 358 —F 1T00m SR A% 1 %0 15:10 1 %0 14:55 8
24 | FHim\ 27 1500m SR |28 B2 17 L —X 15:20 1—22%8 15:05 33
25 | i@ B 5 1500m R A% 1 %8 15:35 1 %8 15:20 12
26 | 1 FE Zx—F 4 <X 100mMmMR TFTHiE | S H—155+5 15:45 1 ~—3F%H 15:25 19
27 |1 =58 —F 4 < 100mMmR FTiE|sFA—155+5 16:00 1 —~—3%A 15:40 22
- < . 1 ~22%A 15:55
28 | i@ 2 F 4 < 100mMR TFiZE | akA 155 +4a 16:15 S —a%m 1T6.05 27
1 ~2%8 16:15
£ 58 5 #H — .
29 im|m 58 4 < 100mMmMR T-3E | asA 155 +4a 16:35 = — %8 - 26
[ « — 1L FOHOER])
CEEkFEEFE EH 1
= 5= F=E 51 FRE B =-5—=<>| EEFEBAISBESM FRAS=EFE T BFRA =0 A28z
== e Bk
1 e 3fE 2T ABE /D 1 9:10 8:40 ae
a%;g;amﬁa‘aﬂsm4s
2 2 5 58 = 4= s Bk Sz aYs 10:00 9:00 a
2 2 5FE 2T 4= vl Bk Sz AYs 10:00 9:00 7
3 2 5FE 2T POFE E &S Bk 11:30 11:10 23
== e B
< 1S cATBE< > e gy 11:30 11:00 52
5 2 5 55 = FE v Bk Sz aYs 13:30 13:00 28
E=E1vE Bk
6 e imE 55 CA-BE D 553 14:00 13:30 a7z
s T L=} I-Yoal=-1-]
CFr =1
== F=E B FEB = =o5-—=>| =EIEzPRBEZSESFAA FE == T BFRA = hn A2
1 & 3 55 FE L PR = pss 9:30 9:10 aa
2 & 3/ 55 o FE  fFe st P 11:30 11:10 17
3 2 5fE 2= FE sl P b= 4 14:00 13:40 35
[MFEEEEFEXCOER]
s == F=E 51 FRE B E e JIE IS =0 A28z
1 k38 58 T 2 I W = M11OMmHACY:55]1—@fFAFLFEXC11:3037 17
2 =+t 588 2 T 2 IR R = A1 O0OO0MHLCY:B35]1—&xE=EmaBELCT1 1:30] 23




imfEpEE Ll =01 (Z288)

8: 00~ =FE{EHEH =i

8: 10~ HF/RMNREBEH-BIFERAKS. FTESHE
16:16~ FEEX (HAF-BEFEF RLBFOHFSID

([~ <« 772 &O)ER]

XIRLISPT

FSYORRFL: 100mMRAEZ—hh PR fTia DR B E D5 (ERFIE )

Ta—ILFEEEE B E VYR

IBEESE TEFZIDSHEIRIYERLE S LA S
NEFF|  FEBU FE B RF—" #A—= "%z BA %A B S SEHE i@MEsE TR | A%k
1 |x@BmBF 3000m SRR | 28521 LL—X 8:50 1~2#%H 8:35 31
1~3#%H 9:10
2 | i EE KA — : 42
HiB\ZF 200m FiEE| 6fA—37F +6 9:25 2 —o6% 920
1~a#%A 9:30
E =3 3 %0 — -
3 |xmEBF 200m FTE| 7HE—3F +3 9:45 s—-m 5.40 49
. . 1~a%8 10:00
4 |1EFEBF 100m FE| 7HH—37F5+3 10:15 S—7% 1010 54
. ) 1~3%A 10:30
5 |15E%&F 800m FiE| SHH—15+3 10:45 prpur=rr) 1025 33
1~3%8 10:55
=3 3 H — -
6 |ximZEF 800m FEE| 6fH—15+2 11:10 prpur=er) 1110 43
1~a%8 11:25
E=3 3 sH — -
7 |HEBF 800m FTE| 78 —1EF+1 11:40 s—7% 1720 50
8 |xim%E=F 100mH HER| 288 —355+2 12:25 1~2#%A 12:10 16
9 |Hx:smEBF 110mH HE 2% — 3735 +2 12:40 1~2#%A 12:25 16
10 | @22 F 200m HER| KA —25+2 12:55 1~3#A 12:40 24
11 | BB F 200m HER| KA —275+2 13:05 1~3#%H 12:50 24
12 |15 B F 100m HER| SFA—25F58+2 13:20 1~3#A 13:05 24
13 |15 Z&F 800m SRR 1 %A 13:35 1%#H 13:20 8
14 | @& F 800m SR P 1 %A 13:40 1 %8 13:25 8
15 | @B F 800m SR PSS 1 %A 13:45 1%H 13:30 8
16 | xi@mz=cF 100mH SRASS 1%8 14:00 1#8 13:45 8
17 | @B F 110mH SRS 1 %8 14:10 1 %8 13:55 8
18 | 1sE5BF 100m SRAFE 1 %8 14:25 14#E 14:10 8
19 | 88 F PAFEA40O0OmM 3#H 14:35 1~3#A 14:20 17
20 | B F PAFE200m 3#A 14:50 1~3#%A 14:35 23
21 |HiBZEF 200m SRR 1 %0 15:00 1 %8 14:45 8
22 | i@ 5B F 200m SRR 1 %A 15:05 1%H 14:50 8
23 |1 EFEBF 1500m SRA%S 1 %0 156:15 1 5B 15:00 12
24 | 1 & F 4 X 100mR SRR 1 %A 15:30 1%H 15:10 8
25 |1 EFEBF 4 < 100mR SRASS 1 %8 15:35 1%E 15:15 8
26 |ILiEZF 4 x 100mR SRR 1 %8 15:40 1 %8 15:20 8
27 | FHiBEHBF 4 %X 100mMmR SR PSS 1 %8 15:45 1%8 15:25 8
[Z « —IL FOAOBER])
CEFEEFE H 1
JIE 5= F=E B FE B =5F—=> EIE BRI LS SN FASERE T aSRA | =no Az
! 1 e ATHET pEy T 9:00 8:30 az
2 =+ 5| 58 POFE =S Bk 9:15 8:55 17
3 =& 58 2T = s Bk e p%s 12:45 12:15 27
a 258 58 == Bk 35 p%s 13:00 12:30
a e 588 2z FEVE BE = pye 13:00 12:30
L =1
= 5= F= 51 FE B =F—=> 553% 33z BF & BF 5] FRHEHE T BFRA | =0 A%k
1 =k 5 2 PO FE fE s Py 9:00 8:40 23
2 = 5 2T T [asF: = £2=3 S p%s 11:00 10:40 14
3 2+ 5/ 58 a3 35 pYs 11:00 10:40 27
[MFEEFEFXOER]
= == F=E 51 FE BH #wE B B =0 A2
1 FEim 5B PO FEE s SOFEMRBEL9: 151 @D400mL14:35] 17
2 2 5 2 T 2o FE B I SFEANLIFL9:001—@D200mLC14:501] 23




